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(a) Under standard conditions at 25°C, Zn(s) reacts with Co™(ag) to produce Co{s). |
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() Write the balanced net-ionic equation for the overall reaction.
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2 H,Oyjag) —+ 2 H,O) + Og(g) E=055V
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(i) Determine the value of the equilibrium constant, K, , for the reaction at 25°C. : . ‘

(iii] The standard reduction potential, E¥, for the half reaction Oylg) + 4 HYag) +4 ¢ = THO(]) hesa |
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of the standard reduction potential, E°, for the half reaction below. !
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Oy(g) + 2H*(ag) + 2 &~ — H;Oq(ag)

() In mn electrolytic cell, Culs) ‘upﬂd’gnudb}rﬂncluwlm':nf mnmcmmmnmm
Cuis) that can be deposited by 1 direct carrent of 100. ampercs passed through 5.00 L of 2.00 M CuS0,(ag
fora period of 1.00 hour. :
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i) 2w >Zuttere 3E°= 0.76 (V)

L1k = (o E° - -0. Lyl
el > 20+ Co mlE =048 CW

GO ON TO THE NEXT PAGE
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